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Xkf.kr 

MATHEMATICS 

le; % 3
4

1 ?k.Vs 

iw.kkZad % 80 

  ijh{kkfFkZ;ksa ds fy, lkekU; funZs’k % 
GENERAL INSTRUCTIONS TO THE EXAMINEES: 

 
1- ijh{kkFkhZ loZizFke vius iz’ui= ij ukekad vfuok;Zr% fy[ksaA 
 Candidate must write first his / her Roll No. on the question paper compulsorily. 

2- lHkh iz’u djus vfuok;Z gSaA 
 All the questions are compulsory. 

3- izR;sd iz’u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksaA 
 Write the answer to each question in the given answer-book only. 

4- ftu iz’uksa esa vkUrfjd [k.M gSa] mu lHkh ds mÙkj ,d lkFk gh fy[ksaA 
 For questions having more than one part, the answers to those parts are to be written together in 

continuity. 

5- iz’u i= ds fgUnh o vaxzsth :ikarj esa fdlh izdkj dh =qfV@varj@fojks/kkHkkl gksus ij fgUnh Hkk"kk ds iz’u 
dks gh lgh ekusaA 

 If there is any error / difference / contradiction in Hindi and English versions of the question paper, 

the question of Hindi version should be treated valid. 

6- [k.M         izz’u la[;k    vad izR;sd iz’u  
v     1&10      1    
c     11&15       2  ठ⃚

l       16&25      3  
n     26&30      6   
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Part                  Question Nos.         Marks Per Question 

A     1 - 10                     1      

B     11 - 15                                 2                    

C     16 - 25         3                 
D     26 - 30                                      6 

7 -  iz’u dzekad 27 o 30 esaa vkUrfjsd fodYi gSaA ठ⃚

There are internalठ⃚choicesठ⃚in Q.No.27ठ⃚andठ⃚30.ठ⃚

8.ठ⃚ viuh mÙkj iqfLrdk ds i`"Bksa ds nksuks vksj fyf[k,A ;fn dksbZ jQ dk;Z djuk gks] rks mÙkj &iqfLrdk ds 
vafre i`"Bksa ij djsa vkSj bUgsa frjNh ykbuksa ls dkVdj mu ij ^jQ dk;Z* fy[k nsaA 

 Write on both sides of the pages of your answer-book. If any rough work is to be done, do it 
on last pages of the answer-book and cross with slant lines and write ’Rough Work’ on 
them. 

9.   iz’u dzekad 26 dk ys[kkfp= xzkQ isij ij cukb,A 

 Draw the graph of Question No.26 on graph paper. 

[k.M & v 
Part – A 

 
iz- 1- vHkkT; xq.ku[k.M fof/k }kjk iw.kkZad 375 vkSj 675 dk HCF Kkr dhft,A      
 Find the HCF of integers 375 and 675 by the prime factorisation method. 

iz- 2- A.P.  -17, -12, -7 &&&&&&&& esa 11 ok¡ in Kkr dhft,A       
 Find 11th term of the A.P.  -17, -12, -7 &&&&&&&&&&&&&. 

iz- 3- ;fn cos A =

12

13
 rks Acot  dk eku ifjdfyr dhft,A        

 If cos A =

12

13
, then calculate cot A. 

iz- 4- f=dks.kferh; vuqikr &  
A sec  A tan dks ds inksa esa fyf[k,A           

 Express the trigonometric ratio tan A in terms of sec A. 

iz- 5- nks le:Ik f=Hkqtksa ds {ks=Qyksa dk vuqikr 16%81 gS rks budh Hkqtkvksa dk vuqikr Kkr dhft,A          
 The area of two similar triangles are in ratio 16:81. Find the ratio of its sides. 

iz- 6- nh x;h vkd`fr esa O ,d o`Ùk dk dsUnz gS ftlds ckgî fcUnq Q ls o`Ùk ij nks Li’kZ js[kka, QP vkSj QR 

[khaph xbZ gSaA dks.k POR dk eku Kkr dhft,A         
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In the given figure, O is the center of  a circle and two tangents QP and QR are drawn on the circle 

from a point Q lying outside the circle. Find the value of angle POR. 
 

 
 

 
  
 
  

iz- 7- 5 lseh- f=T;k okys o`Ùk ds dsUnz ls 9 lseh- nwj ckº; fcUnq ls o`Ùk ij fdruh Li’kZ js[kka, [khpha tk ldrh 
gSA   
How many tangents can be drawn on the circle of radius 5 cm form a point lying outside the circle at 

distance 9 cm from the center. 

iz- 8- ml o`Ùk dh f=T;k Kkr dhft, ftldk {ks=Qy 616 oxZ lseh- gSA       
Find the radius of that circle whose area is 616 cm2. 

iz- 9- ;fn ,d o`Ùk ds nh?kZf=T;[k.M dk dks.k 250° gS rks y?kqf=T; [k.M dk dks.k Kkr dhft,A    
If the angle of major sector of a circle is 250°. Then find the angle of minor sector. 

 
iz- 10- ,d flDds dks ,d ckj mNkyk tkrk gSA blds iV ugha vkus dh izkf;drk Kkr dhft,A    

A coin is tossed once. Find the probability that it is not a tail. 
 

[k.M & c 
Part – B 

iz- 11- ;fn nks fcUnq 5) 2,A(2 vkSj y) 5,( B 2
dk e/; fcUnq ⎟龏

⎠ꂏ

⎞麏
⎜鲎
⎝鶎

⎛鮎 2
3 ,

2

7
gS] rks fcUnq B A,  ds e/; nwjh Kkr   

dhft,A               

If the middle point of two points A(-2, 5) and B(-5, y) is ⎟龏
⎠ꂏ

⎞麏
⎜鲎
⎝鶎

⎛鮎 2
3 ,

2

7
, then find the distance between 

points A and B. 

iz- 12- ,d Bksl v/kZxksys dk lEiw.kZ i`"Bh; {ks=Qy 462 oxZ lseh- gSA bldh f=T;k Kkr dhft,A    
The total surface area of a solid hemisphere is 462 cm2. Find its radius. 

iz- 13- ,d xkao dh <k.kh ds 25 ifjokjksa dk izfrfnu O;; fuEu ckjackjrk caVu }kjk fn;k x;k gSA    

Ikzfrfnu O;; ¼:i;ksa esa½ 25&35 35&45 45&55 55&65 65&75 

ifjokjksa dh la[;k 3 7 6 6 3 
 

izR;{k fof/k }kjk ifjokjksa dk ek/; O;; Kkr dhft,A 
Per day expenses of 25 families of the frequency distribution of a Dhani of a village is given as 

follows. 

Per day expense (In Rs.) 25-35 35-45 45-55 55-65 65-75 

Number of families  3 7 6 6 3 

Find the mean expense of families by Direct Method. 
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iz- 14- ,d lh/ks o 8 ehVj Åaps iksy ij ;krk;kr fu;a=.k ds fy, CCTV dsejk yxk gSA tks iksy ds 'kh"kZ ls 17 
ehVj nwj n`f"V js[kk rd ;krk;kr ns[k ldrk gSA iksy ds pkjksa vksj ;g dsejk fdruk {ks=Qy ;krk;kr 
ns[k ldrk gS\               

For traffic control, a CCTV camera is fixed on a 8m  straight pole. The camera can see 17m 

distance sight line from the top. Find the area visible by the camera around the pole? 

iz- 15- ,d eksVj dkj A LFkku ls B LFkku rd 175 fdeh nwjh 70 fdeh@?k.Vk leku xfr ls lHkh 10 gjs ;krk;kr 
flXuyksa dks ikj djrh gSA Hkkjh ;krk;kr ds dkj.k ;g izFke flXuy ij ,d feuV] nwljs flXuy ij 3 
feuV] rhljs flXuy ij 5 feuV ,oe~ blh izdkj nlosa flXuy ij 19 feuV :drh gSA LFkku B rd 
iagqpus esa bls dqy fdruk le; yxsxkA mi;qä xf.krh; fof/k ls gy dhft,A       
 
A Motor car travels 175 km distance from a place A to place B, at a uniform speed 70km/hr passes 

though all ten green traffic signals. Due to heavy traffic it stops for one minute at first signal, 3 

minutes at second signal, 5 minutes at third signal and so on stops for 19 minutes at tenth signal. 
How much total time it takes to reach at the place B. Solve by suitable mathematical method. 

 

[k.M & l 
Part – C 

iz- 16- fl+) dhft, 6 ,d vifjes; la[;k gSA         

Prove that 6 is an irrational number. 

iz- 17- f}?kkr cgqin 2xx
2

2+  ds 'kwU;d Kkr dhft, vkSj 'kwU;dksa rFkk xq.kkadksa ds chp ds laca/k dh lR;rk dh 
tkap dhft,A            
Find the zeroes of the quadratic polynomial 2xx

2
2+ , and verify the relationship between the 

zeroes and coefficients.  
iz- 18- ml A. P. ds izFke 15 inksa dk ;ksx Kkr dhft,] ftldk ikpaok vkSj uok¡ in Øe’k% 26 vkSj 42 gSA  

Find the sum of first 15 terms of an A.P. whose 5th and 9th terms are 26 and 42 respectively. 

 
iz- 19- ,d ehukj ds ikn ls ,d Hkou ds f’k[kj dk mUu;u dks.k 30° gS vkSj Hkou ds ikn ls ehukj ds f’k[kj 

dk mUu;u dks.k 60° gSA ;fn ehukj dh ÅapkbZ 48 ehVj gS rks Hkou dh ÅapkbZ Kkr dhft,A   
The angle of elevation of the top of a building from the foot of the tower is 30° and the angle of 

elevation of the top of the tower from the foot of the building is 60°. If the tower is 48 meters high, 

find the height of the building. 

 
iz- 20- nh xbZ vkd`fr esa O ,d o`Ùk dk dsUnz gS ftlds ckº; fcUnq C ls o`Ùk ij nks Li’kZ js[kk,a CA, CB [khaph 

xbZ gS] rks fl) dhft, AOB" o ACB" laiwjd gSaA  
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In the given figure, O is the center of a circle and two tangents CA, CB are drawn on the circle from 

a point C lying outside the circle. Prove that AOB" and ACB" are supplementary. 

 

 

 

 
 
 
iz- 21- 4cm, 5cm vkSj 7cm Hkqtkvksa okys ,d f=Hkqt dh jpuk dhft, vkSj fQj ,d vU; f=Hkqt dh jpuk dhft,] 

ftldh Hkqtk,a fn, gq, f=Hkqt dh laxr Hkqtkvksa dh 
4

3
 xquh gksaA     

Construct a triangle with sides 4cm, 5cm and 7cm and then another triangle whose sides are 
4

3
 of 

the corresponding sides of the first triangle. 
iz- 22- ,d o`Ùk dk pki dsUnz ij 45° dk dks.k vUrfjr djrk gSA ;fn blds y?kq f=T;[k.M dk {ks=Qy 77cm2 

gS] rks o`Ùk dh f=T;k Kkr dhft,A          
If an arc of a circle subtends an angle of 45° at the centre and if the area of minor sector is 77cm2

 , 

then find the radius of the circle. 

 
iz- 23- ,d pkanh ds ?kukHk ftldh foek,a 8cm×9cm×11cm ] dks fi?kykdj leku f=T;k ds lkr xksys cuk, x, 

gSaA ,d pkanh ds xksys dh f=T;k Kkr dhft,A          
Seven spheres of equal radii are made by melting a silver-cuboid of dimensions 8cm×9cm×11cm - 
Find the radius of a silver sphere.  

iz- 24- fuEufyf[kr lkfj.kh ,d Ldwy dh d{kk X ds 50 fo|kfFkZ;ksa ds xf.kr esa izkIr vadksa dks n’kkZrh gSA   
izkaIrkd ¼vad½ 

20&30 30&40 40&50 50&60 60&70 70&80 

fo|kfFkZ;ksa dh la[;k 5 9 8 12 13 3 
 

ek/;d vad Kkr dhft,A 
The following table shows the marks obtained by 50 students in mathematics of class X in a school. 

Obtained Marks  
20-30 30-40 40-50 50-60 60-70 70-80 

Number of students  5 9 8 12 13 3 
 

Find the median marks. 

 
iz- 25- ,d fiXxh cSad esa] 1 #- ds lkS flDds] 2 #- ds 25 flDds] 5 #- ds 15 flDds vkSj 10 #- ds nl flDds gSaA 

;fn fiXxh cSad dks fgykdj mYVk djus ij dksbZ ,d flDdk fxjus ds ifj.kke leizkf;d gSa] rks bldh D;k 
izkf;drk gS fd og fxjk gqvk flDdk&                   
(i) 2 #- dk gksxk\   (ii) 5 #- dk ugha gksxk\ 

A

O

B

C•
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A piggy bank contains hundred coins of Rs. 1, twenty five coins of Rs. 2, fifteen coins of Rs. 5 and 

ten coins of Rs. 10. If it is equally likely that one coin will fall, when the bank is turned upside down, 
what is the probability that the coin - 

(i) Will be a Rs. 2 coin?  (ii)  Will not be a Rs. 5 coin?  

 

[k.M & n 
Part – D 

 
iz- 26- 2 vH;kl iqfLrdk vkSj 3 isfUlyksa dk dqy ewY; 17 #i, gS] tcfd 3 vH;kl iqfLrdk vkSj 4 isfUlyksa dk 

dqy ewY; 24 #i, gSA bl leL;k dks chtxf.krh; :Ik esa O;Dr dj xzkQ fof/k ls gy dhft,A   
The cost of 2 exercise books and 3 pencils is Rs.17 and the cost of 3 exercise books and 4 pencils 

is Rs. 24. Formulate the problem algebrically and solve it graphically. 

iz- 27- ,d vk;rkdkj [ksr dk fod.kZ mldh NksVh Hkqtk ls 40 eh- vf/kd yEck gSA ;fn cM+h Hkqtk NksVh Hkqtk ls 
20 eh- vf/kd gks rks [ksr dh Hkqtk,a Kkr dhft,A         

The diagonal of a rectangular field is 40 meters more than the shorter side. If longer side is 20 

meters more than the shorter side, find the sides of the field.  

vFkok 

   Or 

iz- 27- 17 ehVj O;kl okys ,d o`Ùkkdkj ikdZ dh ifjlhek ds ,d fcUnq ij ,d [kaHkk bl izdkj xkM+uk gS fd bl 
ikdZ ds ,d O;kl ds nksuksa vUr fcUnqvksa ij cus QkVdksa A vkSj B ls [kaHks dh nwfj;ksa dk vUrj 7 ehVj gksA 
D;k ,slk djuk laHko gS\ ;fn gS rks nksuksa QkVdksa ls fdruh nwfj;ksa ij [kaHkk xkM+uk gS\     

A Pole has to be erected at a point on the boundary of a circular park of diameter 17 meters in such 
a way that the differences of its distances from two diametrically opposite fixed gates A and B on the 

boundary is 7 meters. Is it possible to do so? If yes, at what distances from the two gates should the 

pole be erected? 

iz- 28- ¼i½ ;fn )34Sin(ACos3A °2= gks] tgk¡ A ,d U;wu dks.k gS rks A dk eku Kkr dhft,A    

¼ii½ fuEufyf[kr loZlfedk fl) dhft,] tgk¡ os dks.k] ftuds fy, O;atd ifjHkkf"kr gS] U;wu dks.k gSA 

  
1+ cot

2
A

1+ tan
2
A
=

12 cot A

1-tan A

"

#
$

%

&
'

2

 

(i) If )34Sin(ACos3A °2= , where A is an acute angle, find the value of A. 

(ii) Prove the following identity, where the angles involved are acute angles for which the 
expression is define.

 
 

1+ cot
2
A

1+ tan
2
A
=

12 cot A

1-tan A
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iz- 29- ml f=Hkqt dk {ks=Qy Kkr dhft, ftlds 'kh"kZ ¼&5] 7½] ¼4] 5½ vkSj ¼&4] &5½ gSA     

 Find the area of that triangle whose vertices are (-5, 7), (4, 5) and (-4,  -5). 

iz- 30- nh xbZ vkd`fr esa ABC ,d f=Hkqt gSA ;fn 
AC

AE

AB

AD
= ] rks fl) dhft, BC||DE    

    

 

 

 

 

 

In the given figure ABC is a triangle. If 
AC

AE

AB

AD
= , then prove that BC||DE  

 

 

 

 

 

 

 

vFkok 

Or 

iz- 30- ,d prqHkqZt PQRS ds fod.kZ ijLij O fcUnq ij bl izdkj izfrPNsn djrs gSa fd 
SO

RO

QO

PO
= gSaA n’kkZb, 

fd PQRS ,d leyEc gSA                          

The diagonals of a quadrilateral PQRS intersect each other at the point O such that 
PO

QO
=

RO

SO  

Show that PQRS is a trapezium. 

 

------------------------------------- 

A

D E

B C

A

D E

B C
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